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In the diagram with measures of the angles 70 and 80 as shown, , find the m.!when flle.

p

70
1

MIDDLETON HIGH SCHOOL
Geometry #2
January 10, 2004 Regional

A =the mZBAD in parallelogram ABCD when m£BCD = 2x +30 and m~ZCDA =3x — 50

B = the measure of the angle when the ratio of the complement of the angle to the supplement
of the angle is 3:8 ’

C = the measure of ZE in aDEF if the exterior angle at vertex F is 105, and mZD = 60

D = the measure of an angle when the measure of the angle is 2x +20 and its vertical angle
has a measure of 5x—34

Find the value of g +D-E.
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A = the measure of the larger angle when one of two supplementary angles is 8 degrees
larger than the other

B = the least number of distinct lines in a plane that can be drawn so that the total number
of points of intersection is 6

C = the measure of the smaller angle when two complementary angles have measures
2x+21 and 3x-26

D = the measure of the 4" angle in a quadrilateral when the average of the other three
angles 1s 78

+D+C.

Find the value of



5
[ .

MIDDLETON HIGH SCHOOL
Geometry #4
J anuary 10, 2004 Reg10nal

In the diagram Shown w1th angles of measure x and ¥, DA il BC.F md mLDAC
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Determme whether each statement is always sometimes or never true. If the statement is
always true assign it a value of 2, if the statement is sometimes true assign it a value of 1, if the -
statement is never true a551gn ita value of 0. Find the sum of the values.

A. If a triangle is obtuse, it is isosceles. ;

B. The bisector of an angle of a scalene triangle i is perpendicular to the opposite side.

C. If only one of the diagonals of a quadnlateral 1s the perpendicular bisector of the other,
the quadrilateral is a kite. :

D. Two parallel lines determine a plane. -

E. Supplements of complenientary angles are congruent
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Given ABCD is aparallelogram AD 2r 4, CD = 3y+5, BC —Ex—t—S AB y+12 Fmd the
penmeter of ABCD. ' '

e
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Choose the most descriptive name for each quadrilateral. Let Parallelogram be P, thombus be R, -
rectangle be G, trapezoid be T, square be S, quadrilateral be Q and kite be K

A. a figure in which the diagonals are congruent and all sides are:co'ngr'u'ent
B. a figure in which diagonals bisect each other

C. a figure with only one pair of parallel sides

D. a figure in which diagonals are congruent and all éngles arel right angles

Take the first letter of each name and put those four letters in élphabetical order to submit your
answer.
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Consider a regular hexagon ABCDEF with sides of length 8.

A = the total number of diagonals in the hexagon -
B =the length of FC

C = the length of CE

D = the area of the hexagon

Find the value of -C—Q
AB
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A = the measure of one exterior angle of a regular pentagon
B = the number of sides of a regular polygon with an exterior angle. of 60
C = the measure of an interior angle of a regular oCtagon

D = the number of sides of a dodecagon

Find the value of +C

B+ D
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In saABC,Dis a‘pointo:f..a—ﬁl and E is époi'ritbf E stich fﬁat -J_D_E-HEE -
A = the length of AB .w.he.n AE =3,EC ‘=-'4, @ =6
B = the 1engt'h of BC when DE =4, AD = 1'2,'133 =6

= the length of BC lw'hé.n DEI = 1 1 aﬁd D and E are midp’bin.ts
]j = the length of CE when'}{tE'; 4,AB =18,BD =12
y

Find the value of C — \
B+D
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A : Three of the exterior angles of a pentagon have measures 63 75, and 58 If the other |
two exterior angles are congruent, what is the measure of one of these two angles? -

B: In right triangle ABC, with right angle at C, AC =12,BC =16.
Find the length of the median to the hypotenuse.

C: In right triangle ABC, mZA4 =60, hypotenuse AB =12,
Find the length of the altitude to the hypotenuse 4B .

_Find the exact valueof A+ B+C .-
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In parallelogram ABCD, dlagonals intersect at pomt O.If 4 O x+2 OC =y+ 4
DO=3x—4,and OB = 2y+4 Find the length of AC. ‘
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In the following diagram, name the longest segment. Diagram not drawn to scale.
mLDEA =110,mZCDB = 60,m£DBC = 80,mZDBA = 40,mLBAD = 75, m/EDA = 40

B
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2ATC and aOGD with the given conditions.
Using each set of given conditions separately, determine if 1 A7TC =aOGD. Every YES answer
has a value of 3, every NO answer has a value of 1. Give the sum of these values.

Al LC= /D, LA= LO. LT = /G
B: ZC=4D, /4= /20,CA=D0O
C:&sfo,ﬁzm,ATz%
D: £C= 4D, ZA = £0,CT = DG
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O is the centroid of ADEF,EE L DF.DH = 9,DG=750H =4
E

A = the length of HF

B = the length of EO

C = the ratio of Of to OD expressed as a fraction

D = the ratio of Of to ID expressed as a fraction Find 4eBe(C e},





